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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H T2 (BB
LS
= 1 81, 867, 098
ER LT
= 1 2, 680, 000
BT
m3 500 2, 680, 000
AR (FtR) ik 2. bmAi
= 1 2, 680, 000
Al T
= 1 60, 188, 292
T 7k
= 1 2, 958, 560
T wEBG 7K (HIEB)
(Pefn L s 284%)
m2 1,230 1,836 2, 258, 280
T wEBG 7K (HRIEB)
(Pefn L s 284%)
m2 277 2,501 692, 777
HHEBG 7K (MK 2V > M)
(Pefn L s 284%)
m2 3 2,501 7,503
TAT 7 MifZE T
(RIEEHEEA)
= 1 2,717, 852
I & A (BB FAITyvTy RC-30 {1 v & 100
mm
m2 1, 160 795. 7 923, 012
FE B FRAEAR T ATy (13) &) 40m
m 1.4mPL E
m2 1, 160 1, 599 1, 854, 840
TAT 7 MifZE T
(P L s 28 4)
= 1 4, 123, 200
e (BOE - B S As HRITTHY (20)DS3000 Aidt
JZ 40mm 3. Omid
m2 1, 200 1,693 2,031, 600
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THEXy « T - FER - 5 MO LFENAL B G EHAm & T2 (BB
FE (FaE - B S As R A (20) DS5000 Fifide
JZ 40mm 3. Omid
m2 1, 200 1,743 2,091, 600
TAT 7 MifZE T
(=D 1L e 2848)
= 1 388, 218
FJE B FREARLEET A2y (13) %5 40m
m 1.4mPL E
m2 267 1,454 388, 218
TAT 7 MifZE T
(HIEEHLEAL)
= 1 44, 430, 870
N & e (FOE - D) FLE)T9vTy RC-30 £ 10 JE 200
mm
m2 4, 260 727.5 3,099, 150
- R (R - BRI R TR A M-30 £ =0 & 150
mm
m2 4, 280 939 4,018, 920
- R (R - B FHAEIR S 22 BBt (25) fHEY
JZ 100mm
m2 4, 200 3, 096 13, 003, 200
Hefg (F &I ) BRI T AT (20) A 50m
m 3. Omtd
m2 4, 200 1,643 6, 900, 600
R E (FGE - KR ) S As UKL A (20) DS3000 Fifide
JZ 50mm 3. Omid
m2 4, 200 2,021 8, 488, 200
FE (FaE - B U As HRITTHY (20) DS5000 At
JZ 50mm 3. Omid
m2 4, 200 2,124 8,920, 800
TAT 7 MifZE T
(HIEEH2EB)
= 1 5,172, 704
& e (e - D) FLE)T9vTy RC-30 £ 10 JE 150
mm
m2 2,180 602. 8 1,314, 104
FE (FaE - B FAESRI T AT, (20) A3 50m
m 3. Omtd
m2 2,180 1,770 3, 858, 600
TAT 7 MifZE T
(EEEEEB GRAQ))
= 1 327, 446
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| T2 (BB
& e (OE - D) FAITyveTs RC-30 {0 & 150
mm
m2 138 602. 8 83, 186
FE (FaE - B FAEBRI T AT, (20) AfEEIE 50m
m 3. Omtd
m2 138 1,770 244, 260
RFE K MEEHLE T
= 1 9, 442
E3E] (MBI 2 Y > M) SEHE
E = £=95mm
(Pefn L s 2846)
m2 2 4,721 9, 442
Bkt 1
= 1 9,332, 723
Pk &Y T
= 1 9,332, 723
HEktEEY) TAT7VMEREE T A Bl R T
CHb)
= 1 9,332, 723
S B A L
= 1 3, 185, 820
PEHMRRR E T
(P L s 28 4)
= 1 2,076, 822
R 24-12-25(20) (& 47)
m3 34 61, 083 2,076, 822
PEHMRRR E T
(BB E284G)
= 1 1,108, 998
I R 24-12-25(20) (& 47)
m3 18 61,611 1, 108, 998
Bl st L
= 1 2, 456, 599
AR AT L
= 1 2, 456, 599
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm & TE (B ESM)
B =h v IR Gr-A—4E 100mb) b dhifiEs
Fiimes 3
m 144 13, 275 1,911, 600
B =h v WIEH Gr-C-4E 50mPA F100mskii
TS i 1 e
m 53 10, 283 544, 999
HEE L
= 1 799, 690
RS B LT
= 1 642, 381
/) ) -MEIEBUE L MERHNE SN HARUIE 1
m3 29 9, 447 273,963
EhAERREIT TAT 7V MHZERR 15emBl
m 27 606. 4 16, 372
LS TAT 7RSSR SHEERRE 5 e m
m2 673 523.1 352, 046
TEHRALER T
= 1 157, 309
PRauRiiig a7 U — bk (B
m3 29 1,016 29, 464
PRauRiiig T AT 7V Nk
m3 34 990 33, 660
ALy av)Y)=hik (IE57)
m3 29 1, 495 43, 355
ALy TAT 7 Wbk
m3 34 1, 495 50, 830
G an
= 1 3,223, 974
RmE T
= 1 3,223, 974
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
R EE R B A
= 1 1,202, 838
R EE R B B
= 1 2,021, 136
B TR
= 1 81, 867, 098
MR E
= 1 15, 028, 038
B3 TS
= 1 3,515,919
et By
= 1 2,690, 313
B R AT I ERE
= 1 53, 464
FH=FICLDRERECR D&
bic|
= 1 2, 636, 849
BIGREsET (K3
= 1 825, 606
MR E (FEH L)
= 1 11,512,119
Wi
= 1 96, 895, 136
B
= 1 30, 647, 461
T AT
= 1 127, 542, 597
— R
= 1 20, 557, 403
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
TS
= 1 148, 100, 000
THEBLF Y %H
= 1 14, 810, 000
TH#EG
= 1 162, 910, 000
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